
Installation and Assembly:
Projector Wireless Integration Module
Model: HDS-PWM-200

ISSUED: 08-24-12   SHEET #: 180-9032-2   01-09-13

2300 White Oak Circle  •  Aurora, Il 60502  •  (800) 865-2112  •  Fax: (800)359-6500  •   www.peerless-av.com

a.calusin
Rectangle

a.calusin
Touchboards_stamp

http://touchboards.com/


2 of 8 ISSUED: 08-24-12   SHEET #: 180-9032-2   01-09-13

NOTE: Read entire instruction sheet before you start installation and assembly. 

Tools Needed for Assembly
• phillips screwdriver
• 7/16"open end wrench

• Do not begin to install your Peerless product until you have read and understood the instructions 
and warnings contained in this Installation Sheet. If you have any questions regarding any of the 
instructions or warnings, for US customers please call Peerless customer care at 
1-800-865-2112, for all international customers, please contact your local distributor.

• This product should only be installed by someone of good mechanical aptitude, has experience 
with basic building construction, and fully understands these instructions.

• Make sure that the supporting surface will safely support the combined load of the equipment and 
all attached hardware and components.

• Always use an assistant or mechanical lifting equipment to safely lift and position equipment.
• Tighten screws fi rmly, but do not overtighten. Overtightening can damage the items, greatly 

reducing their holding power.
• This product is intended for indoor use only. Use of this product outdoors could lead to product 

failure and personal injury.

WARNING

Description Qty. Part #
A wireless mount 1 180-1213
B 5/32" allen wrench 1 560-9646
C 10-32 x 1/4 serrated washer head socket pin screw 1 510-1056

Parts List

Before you start check the parts list to insure all of the parts shown are included. 

NOTE: Actual parts may appear slightly different than illustrated.

A B C



3 of 8 ISSUED: 08-24-12   SHEET #: 180-9032-2   01-09-13

1

WIRELESS RECEIVER 
(SOLD SEPARATELY)

10-32 x 1/4" PHILLIPS SCREW

A

Remove 10-32 x 1/4" screw from wireless module (A).  Position wireless receiver (sold sepa-
rately) in wireless module.  Secure in place by reinserting 10-32 x 1/4" screw.

For security applications, install 10-32 x 1/4 serrated washer head socket pin screw (C) in place 
of the 10-32 x 1/4" phillips screw and secure using 4mm security allen wrench (B). 

10-32 X 1/4" PHILLIPS SCREW
OR
C



4 of 8 ISSUED: 08-24-12   SHEET #: 180-9032-2   01-09-13

Remove the projector from the projector mount.  Loosen the 1/4-20 x 7/8 socket pin screw on 
the clamp of wireless module (A).  Position the clamp of wireless module (A) on the clamping 
plate of the projector mount adapter plate. Tighten the 1/4-20 x 7/8 socket pin screw.  

Plug the component cable(s) from your projector (HDMI shown) into the wireless receiver.
Re-install projector. 3

2

COMPONENT
CABLE

1/4-20 x 7/8 SOCKET 
PIN SCREW

CLAMP

A

CLAMPING PLATE



5 of 8 ISSUED: 08-24-12   SHEET #: 180-9032-2   01-09-13

Plug the end of the wireless receiver power adapter into the input port marked DC on the 
wireless receiver as shown.  Plug the other end into your power source.  

To complete the installation of your wireless projector, please refer to the HDS200 User's Manual 
and the HDS200 Install Guide included.  

4

5



6 of 8 ISSUED: 08-24-12   SHEET #: 180-9032-2   01-09-13

This page intentionally left blank.



7 of 8 ISSUED: 08-24-12   SHEET #: 180-9032-2   01-09-13

©
 2

01
2 

P
ee

rle
ss

 In
du

st
rie

s,
 In

c.
 

P
ee

rle
ss

 In
du

st
rie

s,
 In

c.
 (“

P
ee

rle
ss

-A
V

®
”)

 w
ar

ra
nt

s 
to

 o
rig

in
al

 e
nd

-u
se

rs
 o

f P
ee

rle
ss

-A
V

®
 p

ro
du

ct
s 

th
at

 P
ee

rle
ss

-A
V

®
 p

ro
du

ct
s 

w
ill

 b
e 

fre
e 

fro
m

 d
ef

ec
ts

 in
 m

at
er

ia
l 

an
d 

w
or

km
an

sh
ip

, u
nd

er
 n

or
m

al
 u

se
, f

or
 th

e 
pe

rio
ds

 li
st

ed
 b

el
ow

, f
ro

m
 th

e 
da

te
 o

f p
ur

ch
as

e 
by

 th
e 

or
ig

in
al

 e
nd

-u
se

r. 
A

t i
ts

 o
pt

io
n,

 P
ee

rle
ss

-A
V

®
 w

ill
 re

pa
ir 

or
 

re
pl

ac
e 

w
ith

 n
ew

 o
r r

ef
ur

bi
sh

ed
 p

ro
du

ct
s 

or
 p

ar
ts

, o
r r

ef
un

d 
th

e 
pu

rc
ha

se
 p

ric
e 

of
 a

ny
 P

ee
rle

ss
-A

V
®

 p
ro

du
ct

 w
hi

ch
 fa

ils
 to

 c
on

fo
rm

 w
ith

 th
is

 w
ar

ra
nt

y.
 

In
 n

o 
ev

en
t s

ha
ll 

th
e 

du
ra

tio
n 

of
 a

ny
 im

pl
ie

d 
w

ar
ra

nt
y 

of
 m

er
ch

an
ta

bi
lit

y 
or

 fi 
tn

es
s 

fo
r a

 p
ar

tic
ul

ar
 p

ur
po

se
 b

e 
lo

ng
er

 th
an

 th
e 

pe
rio

d 
of

 th
e 

ap
pl

ic
ab

le
 

ex
pr

es
s 

w
ar

ra
nt

y 
se

t f
or

th
 a

bo
ve

. S
om

e 
st

at
es

 d
o 

no
t a

llo
w

 li
m

ita
tio

ns
 o

n 
ho

w
 lo

ng
 a

n 
im

pl
ie

d 
w

ar
ra

nt
y 

la
st

s,
 s

o 
th

e 
ab

ov
e 

lim
ita

tio
n 

m
ay

 n
ot

 a
pp

ly
 to

 y
ou

. 

Th
is

 w
ar

ra
nt

y 
do

es
 n

ot
 c

ov
er

 d
am

ag
e 

ca
us

ed
 b

y 
(a

) s
er

vi
ce

 o
r r

ep
ai

rs
 b

y 
th

e 
cu

st
om

er
 o

r a
 p

er
so

n 
w

ho
 is

 n
ot

 a
ut

ho
riz

ed
 fo

r s
uc

h 
se

rv
ic

e 
or

 re
pa

irs
 b

y 
P

ee
rle

ss
-

AV
®

, (
b)

 th
e 

fa
ilu

re
 to

 u
til

iz
e 

pr
op

er
 p

ac
ki

ng
 w

he
n 

re
tu

rn
in

g 
th

e 
pr

od
uc

t, 
(c

) i
nc

or
re

ct
 in

st
al

la
tio

n 
or

 th
e 

fa
ilu

re
 to

 fo
llo

w
 P

ee
rle

ss
-A

V
®

’s
 in

st
ru

ct
io

ns
 o

r w
ar

ni
ng

s 
w

he
n 

in
st

al
lin

g,
 u

si
ng

 o
r s

to
rin

g 
th

e 
pr

od
uc

t, 
or

 (d
) m

is
us

e 
or

 a
cc

id
en

t, 
in

 tr
an

si
t o

r o
th

er
w

is
e,

 in
cl

ud
in

g 
in

 c
as

es
 o

f t
hi

rd
-p

ar
ty

 a
ct

io
ns

 a
nd

 fo
rc

e 
m

aj
eu

re
. T

hi
s 

w
ar

ra
nt

y 
al

so
 d

oe
s 

no
t c

ov
er

 c
or

ro
si

on
 o

r r
us

t r
es

ul
tin

g 
fro

m
 d

am
ag

ed
, s

cr
at

ch
ed

 o
r c

hi
pp

ed
 p

ai
nt

 o
r o

th
er

 s
ur

fa
ce

s.

In
 n

o 
ev

en
t s

ha
ll 

Pe
er

le
ss

-A
V®

 b
e 

lia
bl

e 
fo

r i
nc

id
en

ta
l o

r c
on

se
qu

en
tia

l d
am

ag
es

 o
r d

am
ag

es
 a

ris
in

g 
fr

om
 th

e 
th

ef
t o

f a
ny

 p
ro

du
ct

, w
he

th
er

 o
r n

ot
 

se
cu

re
d 

by
 a

 s
ec

ur
ity

 d
ev

ic
e 

w
hi

ch
 m

ay
 b

e 
in

cl
ud

ed
 w

ith
 th

e 
Pe

er
le

ss
-A

V®
 p

ro
du

ct
. S

om
e 

st
at

es
 d

o 
no

t a
llo

w
 th

e 
ex

cl
us

io
n 

or
 li

m
ita

tio
n 

of
 in

ci
de

nt
al

 o
r 

co
ns

eq
ue

nt
ia

l d
am

ag
es

, s
o 

th
e 

ab
ov

e 
lim

ita
tio

n 
or

 e
xc

lu
si

on
 m

ay
 n

ot
 a

pp
ly

 to
 y

ou
.

Th
is

 w
ar

ra
nt

y 
is

 in
 li

eu
 o

f a
ll 

ot
he

r w
ar

ra
nt

ie
s,

 e
xp

re
ss

 o
r i

m
pl

ie
d,

 a
nd

 is
 th

e 
so

le
 re

m
ed

y 
w

ith
 re

sp
ec

t t
o 

pr
od

uc
t d

ef
ec

ts
. N

o 
de

al
er

, d
is

tri
bu

to
r, 

in
st

al
le

r o
r o

th
er

 
pe

rs
on

 is
 a

ut
ho

riz
ed

 to
 m

od
ify

 o
r e

xt
en

d 
th

is
 L

im
ite

d 
W

ar
ra

nt
y 

or
 im

po
se

 a
ny

 o
bl

ig
at

io
n 

on
 P

ee
rle

ss
-A

V
®

 in
 c

on
ne

ct
io

n 
w

ith
 th

e 
sa

le
 o

f a
ny

 P
ee

rle
ss

-A
V

®
 p

ro
du

ct
.

Th
is

 w
ar

ra
nt

y 
gi

ve
s 

sp
ec

ifi 
c 

le
ga

l r
ig

ht
s,

 a
nd

 y
ou

 m
ay

 a
ls

o 
ha

ve
 o

th
er

 ri
gh

ts
 w

hi
ch

 v
ar

y 
fro

m
 s

ta
te

 to
 s

ta
te

.

LI
M

IT
ED

 W
A

R
R

A
N

TY

w
w

w.
pe

er
le

ss
-a

v.
co

m

P
ro

du
ct

M
ou

nt
s

Fu
rn

itu
re

C
ab

le
s

C
le

an
in

g 
P

ro
du

ct
s

E
le

ct
ro

ni
c 

P
ro

du
ct

s 
an

d 
co

m
po

ne
nt

s

W
ar

ra
nt

y 
P

er
io

d

5 
ye

ar
s

1 
ye

ar
25

 y
ea

rs
1 

ye
ar

1 
ye

ar



Peerless-AV Europe
Unit 3 Watford Interchange,
Colonial Way, Watford, Herts,
WD24 4WP, United Kingdom
Customer Care
44 (0) 1923 200 100
www.peerless-av.com

© 2012, Peerless Industries, Inc.

Peerless-AV de Mexico
Ave de las Industrias 413
Parque Industrial Escobedo
Escobedo N.L Mexico 66050
Servicio al Cliente
01-800-849-65-77
www.peerless-av.com

© 2012, Peerless Industries, Inc.

Peerless-AV
2300 White Oak Circle
Aurora, IL 60502
Email: tech@peerlessmounts.com 
Ph:  (800) 865-2112
Fax:  (800) 359-6500
www.peerless-av.com

© 2012, Peerless Industries, Inc.

a.calusin
Touchboards_stamp

http://touchboards.com/

